
Math 60440: Basic Topology II
Problem Set 6

1. LetA• be a chain complex of finite type. Prove that χ(A•) =
∑∞

n=0(−1)nrank(Hn(A•)).

2. Let X be a semisimplicial set. Make the geometric realization |X| into a CW
complex in the obvious way. Prove that C•(X) ∼= Ccell

• (|X|).

3. Do the following problems from Hatcher:

• For these problems, don’t use simplicial homology or ∆-complexes, but
rather use either cellular homology/CW complexes or the axioms for ho-
mology.

– Section 2.1, problems 4, 6, 9.

• Section 2.2, problems 17, 19.
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